Whole Numbers

Edewcise - 4.l
. 4he smallestk whole number 1S imnd Bheve s

no Lﬂ.’h‘ﬂiﬁ'; ikele rumbe v

Solubion -02:
(Y 294949

Successor LS A more bhoan the ‘,'j'lwen Numbe

Ehe Successor of 2999

T 3999+
= tpoon.
vy 3108
the successory of 2733915 = 272915 + )
= 31 '9l6 .

Civ) 5601294

the Suecesspr of 5001299 = 5001299 |

= %oﬂlgoc}.
Solubipn-03!

Predecessor igtless than ihe FiVen numl
mbey

(Y 500
Pved ecessory of Seo -500-)

= 499

(Y Yhe Pye decessor ¢ 2879y = 3R79y

= "3‘-?61q3_
Cin) & .
he Fde_ﬁ'c:ssﬂf of 8200000 = BROC0On ~ |

= 'EZDIJ‘TG"-'.'


Admin
Typewritten text
Whole Numbers

Admin
Typewritten text
Whole Numbers


Solubon o4

(Y successor of So185 15 = S0195 4|

= 507196

(hYy Successor oF 120300 7 g

L

MT2LoZ2ooh )

T2To3ol .

(1) SWCECESSOY of [a00060 1S T DIOOAOO 4

= [Roc oan,

salution - os°®

(1Y pyxedecessoy of 534y VS

L)

S3Y47-)

"

534¢
011 ﬁedecesﬁruv of 12299 1S = 7239q- )
= "I.l?...ﬂl%

() Predecessor of 3012999 (s = 2012 qaq .

i

L= 30129498

Solukipn-06"
) the nedl bhxee Canse cutive kol e Numke rs oaf 'TGI'

avYEeE Two, wl, BL .

(i) the neut three concecsubive whole Numbere o

consecuti ve Whole
Yy e rmewt thyee " numbers of

35 ¢6¢ q ave
266170, 3567, 35612.



Solubkion -on

X le numbers OCc‘ur‘lnq
consecubive (Dho
The thryee
yust befove 2ooo!l arve 32 0000, 2219499 ,

232\99% .

Solution-0% -

Wy ™e whole numbeYs Letween 2¢ and 6% are
&%) 29, 40,41, -. - , 61]GY.
Nurmber Of those numbers - An -3 g

= A9,

Note that in the above List, €9 is ncluded
and 2@ 'S not \nctuded .

Y The whole numbere hetween 99 and 200 are

l0O, 1o, 102,102, . -0 .- » 298,299,

Numbey of those humbers = 299 -tq

= R00.
Solukion -09

Whole numkers between 1po and 200 (an oy

do not than ge 1F the digikts gy,
WOV kken n the Yevevse Ovder

1OV, 0L, W2y (230,140 s, 061 11y ,18), & F



Solubion-16;

Whole Numbers (2 digit) between 5and 92 axe
1o, W\, 12,13, 14,

-, 90,9

Numbey of Hose mnumber g

it

92 -1

B
soluron -1

2 digit whele numbers  belween

"{Z,Qﬁd qﬁ"l AT e
oo, 1oy, Vor , |OF,

s (o [-F

NumbeY sf Hose Nnuwm Ler s

4o -loo

= 301.



Ertewcio€- 9.9 .

sclubion -o01.

1y e+ lody = o4 '3_1&_

iy
fany

Ciwd

221 40528 +1164) =(2371528) + U6y

(2 +18)+ 3 =@ 3341

2056 + O e 3F056. = ot 3056,

Solukion-p2:

iy

21329 4 53 @85

2139
532695
e
51874

e ——

2123944+6563%955 * 57107y -

i)

A2 35
F1 81

5101 4

-
3189 + 53885 - 52885 4321]4
23989 Y 50310

25429

5o 21

i

%;.I\DD

Ro3V
3 3189

I—

24V 00

I

3371 EH*SDEH = Ho3zl x 237189



solukion -03-

(Y 24528 t 289 = (20 r528) +269

= (839) + 239
= T2

VY 123+ 834 + 86 4991 - (123 %+ gayy+ (&6 +t21)

=05 59934 32)

= 100

WY MR/ E2024 435 41197 T2

I\

242025+ (435 1422347197

!

(22 + (= s+ 7199

11

(2281 + 2571) + 7197
= I BR +1\V9 T
= 33125

Solubion -og

(Y 2154 87 = 51v 315

() Gz AN Y 2S5 = a3y Clev 29)

QW 2424y = 2419 + 21 % &

(W) onsv ) = 1205 = |y 2D0sS

(v) 566%x0 = _O

(\J\'} _D” + ’j‘]c'] > |
v ) HB KO8 = {41 BFI00H 471239 B
Cvim) E84+97 = 684 x100- 684 ¥3

Lw) 05 = nalo
P4y flu-1wWy =1 = O



go lution - 05 &

(VY 4ysag 25 = (HHYRBIL 528
= 100 x5a4q

- 51g%o0p

(WY gas+23q9ylg = (625 w16)1a23g

= 100006 ¥ 2739

= Q.?:ﬁDODG-

Gy 25 wyo g was

= (12544p)*+ L& tas)
= HBo0ooco0415%p00

= 0. 0cooc

Solution -06:

(VY 54279 ¥qa2 +54 29194 g = 54279 (92+8)

= 543719« 100

—

9421900.

W G613 X262 -60671% %162 - éoé‘!'ﬁ[&ﬁ&-lﬁlj

= go61el o)

- GOE1B 0o
i Solubion-0114
(D 739 %02 = 939 (10042>
= 1239 %L\o0 4139 v

= _135100'1‘\'1118
= T15831% .



solubion 01 -

192s 499 =-1923¢ (10o-1)

= 1928 L\0O0-193¢

92 800 - 1924

= 19182
solubion Oog-
By Actuad duvision,
11)7150{qqﬁ

e have 63

Dwidend =1150 15
Aduvigpy = 71 63

10

Juotkient =Lyy 6 g

Eemandey = 2 €Y
clecl :

A, sor 9 uokient +

= 1 yyy b

= 114 + 1
= 1750
Selution o09:-
Let He numbery dividend Le 'p
D = divisey xquotient 4 R emagndey

= 2e 44T 4107

—

= 814 4

= 29,



solu bion -10.

Let Hnhe numbey Le'q'

{\ooo- &) % ;2 should be divisible by 25

gixst wl divided 1000 by 35

35)\o00 2@
10

300
196

——

20.

90 should be 5uLhac{'ecJ tvom \00o So tg t
tve diftevence Can Le cuvable by 3s5.

solukion-1
53) Iooco (1'%
53
410

A2y
A6

rurmbey  which SLould Le Added to \ooo

so Hat \b con be eiactlg) divisible
by 53 {5
52 - 46 = 1.

Requived mrumber o



golubion -1 2.
Lavgest thvee digit number 999

e divide 999 by 41 and +tind the Yemaindey

&41) 999 (2
4XF ij
b2 2

6

The LMJESL thvee digid naumb ev which
chowd Le divigible i-,j 44 IS 483 .

SRy NewQ qQq - 12 = 9 g7

Solution-193.

Ewallest 5 digib humber = 10000

Wil divide fB0O0O0 \[ij 25y
254 ) l0oono (3
16
23 %0
22 86
_-—-—q"z}_ ‘
The 58mallest Five d}"ﬂf{ number whkch

slouwld be divisble by 254 i5- lolGo.

Requived mumbe =025 §- gy

= |ol&o-



Solurion 14 ¢

Mal ke SLLPP\;Q); N the worTning - 4, Likvre

1 ) Y EVEMMS L s Likre
Total mMilic sSupplied in the day = 99 424
= lbo Litye .

Total cost =339 X loo

f

T 3,900/-.

Solution-15:

G Tyue
(\i) TTy¥ue

@115 False.

Solubion-16+

Y 35 6
¥ ¢ «




4 O * g
L4 * &5 7
=) *io
6 5 O 2
2 0 *® 5
R
Z X 5 1
P Y T 40
5§ & 0 2
t 0 459
4 ¥ 5 7

Lra!



Ehevcise- 9.7

Solukion -0 1%-

UY 2246 49699 = 3246+ o000 -1
= 13246 -1
= 13245

(id 150 +99q9 = 15c0 ¥l ¥ 49499

= TSs5ae04+ loocoa

- V1500 .
thn B3 -999

Ty

5219 -1 -9q49

11

5212 -\won

= B 4312

CV) 25718~ 9999 = 9641 9-1 - q4qq4q

—

i = 25719 -loeoos

= 15719,

1]

vy 123x99¢9 123 %(looo-1)

= 123X1000 - (23 %)
= 22000 -12%2

_ [2.'1‘3'1'1 .

(viy 203 X9999 = 203 % (loope =)

L]

203X ooo- 2a3x |

]

20%000 - 201%

= 203000
- . 2 0%.

262ﬂq%




Splubion: 025

i A b Squome number 15

1L

q¥q

|

=3
() 5 th. iriangules number =g C 24344 k4

6 A kwiomduder nuabel = 1SE 6 Ti24234 4y 54y

= 221 -
2 b\ Avianguleos rumbey = 2\ 4
= s
colution- 0%

iy 2Y¥e€5 9 'S a Squoow S Wel Aas ¥eckangulay

Nurmbé
L] ] )
& h_"ﬂ‘
o [-] o

. Y . |
\ﬂhﬂu]d.q, raumbers (g - og ba

= 36,

a4 & = %



4, V24 41 =0

V21 42 =006
V224942 =1\, p
V234> 9 4y - o
P3S4 45 = o

Solykion os7

IS T65 %
A +94171 = @¢
A9%x9 1€ -ggg
A9 2w q g - 2 _8eg

4999 »9 vy - 2SR8 %

A2999%xq 13 = 9ge8sa

— o—_-





